

$\int \frac{f(x)}{g(x)} dx$ حاصل از حد $\lim_{n \rightarrow \infty}$
 $n x^n + a_{n-1} x^{n-1} + \dots + a_1 x + a_0$ $a_0, a_1, \dots, a_n \in \mathbb{R}$
 $n < m$ مخرج $g(x)$ $\sim$ $ax^r + bx + c$ $\Delta < 0$

$\frac{A}{x-a}$
 $(x-a)^k \rightarrow \frac{A_1}{x-a} + \frac{A_2}{(x-a)^2} + \dots + \frac{A_k}{(x-a)^k}$
 $\frac{Ax+B}{x^2+a^2}$

$\int \frac{1}{x} dx = \ln|x|$ $\int \frac{dx}{x \pm a} = \ln|x \pm a| + C$
 $\int \frac{dx}{x^2 + a^2} = \frac{1}{a} \tan^{-1} \frac{x}{a} + C$ $\int \frac{x}{x^2 + a^2} dx = \frac{1}{2} \ln(x^2 + a^2) + C$
 $\int \frac{dx}{(x-a)^k} = \int (x-a)^{-k} dx = \frac{(x-a)^{-k+1}}{-k+1} + C$

$\int \frac{x^2 - 2}{x^2 - 9} dx$ $\frac{x^2 - 2}{(x-3)(x+3)} = \frac{A}{x-3} + \frac{B}{x+3} = \frac{A(x+3) + B(x-3)}{(x-3)(x+3)}$
 $(x-3)(x+3) \sim$ $Ax + 3A + Bx - 3B = (A+B)x + (3A-3B) = x^2 - 2$

$\begin{cases} 3A + 3B = 2 \\ A + B = 1 \\ 3A - 3B = -2 \end{cases} \rightarrow 2A = 1 \rightarrow A = \frac{1}{2}$ $A + B = 1 \Rightarrow B = 1 - A = 1 - \frac{1}{2} = \frac{1}{2}$

$\Rightarrow \int \frac{x^2 - 2}{x^2 - 9} dx = \int \left(\frac{1/2}{x-3} + \frac{1/2}{x+3} \right) dx = \frac{1}{2} \int \frac{1}{x-3} dx + \frac{1}{2} \int \frac{1}{x+3} dx$
 $= \frac{1}{2} \ln|x-3| + \frac{1}{2} \ln|x+3| + C = \frac{1}{2} \ln|x-3| \cdot |x+3| + C$
 $= \frac{1}{2} (\ln|x-3| + \ln|x+3|) = \ln \sqrt{|x-3| \cdot |x+3|} + C$

1) $\int \frac{dx}{x(x+1)^2}$

$\frac{1}{x(x+1)^2} = \frac{A}{x} + \frac{B}{x+1} + \frac{C}{(x+1)^2} = \frac{A(x+1)^2 + Bx(x+1) + Cx}{x(x+1)^2}$

$\sim$ $A(x^2 + 2x + 1) + Bx^2 + Bx + Cx = Ax^2 + 2Ax + A + Bx^2 + Bx + Cx$

$$= (A+B)x^r + (2A+rB+C)x + EA = 1$$

$$\begin{cases} A+B=0 \rightarrow B=-1/r \\ 2A+rB+C=0 \rightarrow 1-\frac{1}{r}+C=0 \Rightarrow C=-\frac{1}{r} \\ EA=1 \rightarrow A=\frac{1}{r} \end{cases}$$

$$\Rightarrow \int \frac{dx}{x(x+r)^r} = \int \left(\frac{1/r}{x} - \frac{1/r}{x+r} - \frac{1/r}{(x+r)^r} \right) dx =$$

$$= \frac{1}{r} \ln|x| - \frac{1}{r} \ln|x+r| - \frac{1}{r} \int \frac{du}{u^r} = \frac{1}{r} \ln \left| \frac{x}{x+r} \right| + \frac{1}{r(x+r)} + C$$

$\int u^{-r} du = -\frac{1}{r} u^{-r+1} = -\frac{1}{r} \frac{1}{u^{r-1}}$

$$r) \int \frac{dx}{x^r + \varepsilon x} \quad \frac{1}{x(x^r + \varepsilon)} = \frac{A}{x} + \frac{Bx+C}{x^r + \varepsilon} = \frac{A(x^r + \varepsilon) + (Bx+C)x}{x(x^r + \varepsilon)}$$

$$x(x^r + \varepsilon) \quad \text{موزون: } Ax^r + \varepsilon A + Bx^r + Cx = (A+B)x^r + Cx + \varepsilon A = 1$$

$$\begin{aligned} A+B &= 0 & C &= 0 & \varepsilon A &= 1 \\ \downarrow & & & & \downarrow & \\ B &= -1/r & & & A &= 1/r \end{aligned}$$

$$\Rightarrow \int \frac{dx}{x^r + \varepsilon x} = \int \left(\frac{1/r}{x} - \frac{1/r x}{x^r + \varepsilon} \right) dx = \frac{1}{r} \left\{ \int \left(\frac{1}{x} - \frac{1/r x}{x^r + \varepsilon} \right) dx \right\}$$

$$= \frac{1}{r} \ln|x| - \frac{1}{r} \ln(x^r + \varepsilon) + C$$

$$f) \int \frac{dx}{(x^r+1)(x^r+r)} \quad \frac{1}{(x^r+1)(x^r+r)} = \frac{Ax+B}{x^r+1} + \frac{Cx+D}{x^r+r}$$

$$\Rightarrow \frac{(Ax+B)(x^r+r) + (Cx+D)(x^r+1)}{(x^r+1)(x^r+r)}$$

$$\text{موزون: } Ax^r + rAx + Bx^r + rB + Cx^r + Cx + Dx^r + D = (A+C)x^r + (B+D)x^r + (rA+C)x + (rB+D) = 1$$

$$\Rightarrow \begin{cases} A+C=0 \\ rA+C=0 \end{cases} \quad \begin{cases} -B-D=0 \\ B+D=0 \\ rB+D=1 \end{cases}$$

$$\downarrow \quad \downarrow$$

$$A=C=0 \quad B=1 \quad D=-1$$

$$\Rightarrow \int \frac{dx}{(x^r+1)(x^r+r)} = \int \left(\frac{1}{x^r+1} - \frac{1}{x^r+r} \right) dx = \frac{1}{\sqrt{r}} \tan^{-1} \frac{x}{\sqrt{r}} + C$$

$\alpha = \sqrt{r}$

$$n = r$$

$$\frac{f(x)}{g(x)}$$

$$\frac{f(x)}{g(x)} = \frac{q(x)}{s(x)} + \frac{r(x)}{g(x)}$$

$$\int \frac{f(x)}{g(x)} dx = \int s(x) dx + \frac{R(x)}{g(x)}$$

$$\deg(R(x)) < \deg(g(x))$$

$$\int \frac{x^r}{x^r + x^r + x + 1} dx$$

$$\frac{x^r}{x^r + x^r + x + 1} = x - 1 + \frac{1}{x^r + x^r + x + 1}$$

$$\begin{array}{r} \cancel{x^r} \\ \cancel{-x^r} - \cancel{x^r} - \cancel{x^r} - x \\ \hline \cancel{-x^r} - \cancel{x^r} - \cancel{x^r} - x \\ \hline x^r + x^r + x + 1 \\ \hline 1 \end{array}$$

$$\frac{1}{x^r + x^r + x + 1} \Rightarrow \frac{1}{x^r + x^r + x + 1} = \frac{1}{x^r(x+1) + (x+1)} = \frac{1}{(x+1)(x^r+1)}$$

$$\frac{1}{x^r + x^r + x + 1} = \frac{1}{(x+1)(x^r+1)} = \frac{A}{x+1} + \frac{Bx+C}{x^r+1} = \frac{A(x^r+1) + (Bx+C)(x+1)}{(x+1)(x^r+1)}$$

$$\text{نموذج: } Ax^r + A + Bx^r + Bx + Cx + C = (A+B)x^r + (B+C)x + (A+C) = 1$$

$$\begin{aligned} A+B &= 0 \\ B &= -A \end{aligned}$$

$$\begin{aligned} -A + C &= 0 \quad A+C=1 \Rightarrow \begin{cases} -A+C=0 \\ A+C=1 \end{cases} \Rightarrow C=1 \Rightarrow C=1/2 \\ A=C=1/2 \Rightarrow B=-1/2 \end{aligned}$$

$$\int \frac{1}{(x+1)(x^r+1)} dx = \int \left(\frac{1/2}{x+1} + \frac{-1/2 x + 1/2}{x^r+1} \right) dx = \frac{1}{2} \left\{ \int \frac{1}{x+1} dx - \frac{1}{2} \int \frac{x}{x^r+1} dx + \int \frac{1}{x^r+1} dx \right\}$$

$$= \frac{1}{2} \left\{ \ln|x+1| - \frac{1}{r} \ln(x^r+1) + \tan^{-1} x \right\}$$

$$\text{نموذج: } \int \frac{x^r}{x^r + x^r + x + 1} dx = \int \left(x - 1 + \frac{1}{x^r + x^r + x + 1} \right) dx$$

$$= \frac{1}{2} x^r - x + \frac{1}{2} \ln|x+1| - \frac{1}{2} \ln(x^r+1) + \frac{1}{2} \tan^{-1} x + C$$